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Occupations - 4

1.  

Which of the following  does NOT match any of the 
pictures above?

A) I can defend people in court.
B) I can draw the plans of buildings.
C) I can cook delicious meals.
D) I can cut, dye, and design hair.

2.  Mike and Jane are playing a game. Jane tries to find out 
Mary’s dream job.
Jane	: Can you build roads, bridges, and buildings?
Mike	: No, I can’t.
Jane	: Can you pull out teeth?
Mike	: Yes, I can.
Jane	: Are you a - - - -?
Mike	: Yes, I am.        

Which of the following completes the conversation 
above?

A) teacher	 B) dentist	 C) lawyer 	 D) mechanic

3.  Jane talks about occupations of her family members.
My mother is a dentist. She  - - - -.
My father is a salesman. He - - - -.
My brother is an architect. He - - - -.
My sister is a teacher. She - - - -.

Which of the following does NOT complete the text?

A) works in a restaurant and prepares meals
B) can draw the plan of a building
C) can treat the diseases of your teeth
D) sells things in a supermarket

4.  I’m Jennifer. I was born on August 16, 1984. I’m a nurse. 
I work at the city hospital. I help the doctors and patients. 
My work begins at 8:30 in the morning and finishes at 4 in 
the afternoon. I sometimes find my job hard, but I love it. 
It makes me feel good to help the patients. 

Which of the following has NO answer in the text?

A) How does she feel when she helps the patients?
B) What does she think about her job?  
C) Where was she born?
D) What time does her work start?

5.  (I) Hi! I’m a tailor, and I can cut and sew clothes. (II) I can 
make modern dresses for people. (III) People can find 
nice clothes in shops. (IV) I like my job very much. 

Which of the following is irrelevant to the text?

A)I 	 B) II  	 C) III  	 D) IV

6.  Sam	 : I can examine patients.
Tim	 : I can take orders and serve.
Cindy	: I can make and sell bread.
Sally	 : I can build roads, bridges, and buildings.

Which of the following is NOT correct?

A) Sam is a doctor.
B) Tim is a waiter.
C) Cindy is a baker.
D) Sally is a mechanic.
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7.  Teacher	: - - - - ?
Jack	 : He was born on 11th November,1944.
Teacher	: - - - -?
Jack	 : He was born in Istanbul.
Teacher	:- - - -?
Jack	 : He was an actor.

Which of the following does NOT the teacher ask 
Jack?

A) What was his occupation
B) Where was he born
C) When was Kemal Sunal born
D) Where did he live

8.  David	: I work at a café and serve food.
Cindy	: My father works in a hospital and cures people.
Mike 	 : My mum creates new dresses, suits, and jackets.
Sue	 : �I fly people or carry cargos from one place to 

another.

Which of the following is NOT related to the 
conversation?

A) Tailor 	 B) Teacher 	 C) Pilot	 D) Waiter

9.  Rick Stella Carl Melinda

• works in an 
office

• answers 
phones 
and takes 
notes

• cuts and 
sews 
fabric

• makes 
dresses

• examines 
patients

• treats ill 
people

• drives 
trucks and 
lorries

Which of the following is NOT correct?

A) Rick is a secretary.
B) Stella is a hairdresser.
C) Carl is a doctor.
D) Melinda is a driver.

10.  

Hi! I am Martin. I’m an 
engineer. I can - - - -.

Which of the following completes the statement?

A) build roads and bridges
B) cut and sew fabrics
C) look after ill people
D) sell goods at a shop

11.  Alex	 : - - - -?
Betty	: Being a doctor.
Alex	 : - - - -?
Betty	: Because I want to treat patients and help them.
Alex	 : - - - -?
Betty	: Yes, but I love my job.

Which of the following does NOT Alex ask Betty?

A) What’s your dream job
B) What can you do
C) Why do you want to be a doctor
D) Do you think it’s difficult to be a doctor

12.  Garry	 : I can grow fruit and vegetables.
Nicholas	: I can treat diseases of your teeth.
Eric	 : I can cut, dye, and design hair.
Stephen	 : I can prepare delicious meals.

Which of the following is CORRECT according to the 
conversation? 

A) Garry works in a hospital.
B) Nicholas works in a school.
C) Eric works in a supermarket.
D) Stephen works in a restaurant.


